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INSTRUCTIONS TO CANDIDATES (Please read these instructions carefully)

You have been given this question booklet and a separate answer sheet. The question booklet contajns 50 questions,

Do any necessary rough work in this booklet.
When youliave chosen vour answer. mark it on the ANS WERSHEET, notin this question booklet,
HOWTO USETHF ANSWER SHEET

Useonlyan ordinary pencil,
Make surethat you have written on the answer sheet:
YOURINDEX NUMBER
YOURNAME
NAME OFYOUR SCHOOL :

By drawing a dark line inside the correct iumbered boxes tnark your full Index Number (i.e. School Code Number and the
three-figure Candidate’s Number) in the grid near the top of the answer sheet.

Do not make any marks outside the boxes. 1
Keepthe sheetas elean a3 possible and donot fold it.

For each of the questions 1-50 four A05Wers are given. The answers are lettered A, B, C and D. In each case otly ONE of the
fouranswers is correet. Choose the cotTect answer.

On the answer sheet, show the correct answer by drawing a dark line inside the box in which the letter ¥ou have chosen is
Wrillen. 2

Example
In the Question Booklet.

35. ‘Ih:lfoﬂnw:]:g are factors ofsixteen. Which one s the odd one out?
e

The correct answeriz (32).

QOn the answer sheet:
E A 1B e A0 e o[ LA tf3y o :D: Aa B e(Ca lEn A7 (B i o[
In the set of boxes numbered 335, the box with the letter D printed in it is marked
Your dark line MUST be within the bosx.
For each question ONLY ONE box i to be marked in each set of four Boxes.

This Question Paper consists of 8 prioted pages

& Stepford Press ond Publishers, 20271

®



What is 80008.008 written in words?

A. Eight thousand and eight and eight
thousand. !

B. Eighty thousand and eight and eight
thousandths.

C. Eighty thousand and eight and eight
hundredths.

D. Eighty thousand and eight point zer0
zero eight.

What is 69806 rounded off to the nearest
thousands?

A 69800
B. 69000
C. 70000
D, 7000

Work out : 7—9-
16

Al 2.31
4

B. 1%
3
1
16

D. 73
4

c

What is the HCF of 36, 45 and 637

A. 144
B. 126
cs
D. 3

Work out: 5(32—27)+24+ 47

A 31
B. 16
11
D

Convert 2% to 2 decimal.

A 24

B. 0.416
C. 0.024
D. 24.00

=1
'

10.

What is the next number in the sequence
below?
-1 T o5
22—
6'27°%" "%

=
L
|hen]| =

B.

L]

e

¥

D.

i
b ] b | Oy

What is the place value of digit 9 when

24072 is divided by 8?2

A. Tens
B. Ones
. Hundreds

D. Thousand
Increase sh. 20,000 by 20%

A. sh. 4000
B. sh. 16000
C. sh. 18000
D. sh. 24000

1 Fo 4
TWhat is the value of: —z-ﬂf(z—g]+ 2—5-

A=

B. —
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11. What is the perimeter of the figure

below?
S m

g IS

A, 32m
B. 30m
C. 24m
DL 18m

12. A trader bought a bicycle for sh. 9600

and later sold it for sh. 12000. What was

his percentage profit?
' = P

A. 10%
8. 15%
C. 24%
D. 25%

13. What is the value of ¢ in the equation

below? 241

+g=4
Azg
T
5
G9s

B

14. What is the sum of all prime numbers

between 50 and 607

A. 104
B. 112
. 161
D. 220

15. Simplify: 2(4c +5d)+3(15¢ —10d)

A 1Te+16d
B. 17c+44
C. lle+38d
D. 1T7c—4d

16.

X

17.

18.

19.

What 15 the measure of angle XYZ?
Y

(2p+10°

2p—-30%) p 7

A. 28
B: 33°
C. 40°
D. 90°

A farmer has a square plot of land
measuring 200n1. What is the area of the
plot in Ares?

A, 40000 Ares
B. 400 Ares
C. 40 Ares

D. 20 Ares

Arrange the following fractionsin a
descending order: _3,, 2

5227
4°6°3°8
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What is the area of the figure below?

10 cm

- 12em

22 cm’
32 e’
48 cm’
60 cm

gows
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20.

21.

22.

23.

Work out: 12-3+8%5-9+-3x]0-1

AL 171
B. 15
C. 13
b, 12

Round off 76767.6133 to the nearest
hundredths.

A, 76767.61
B. 76767.60
C. 76800.6133
D. 76767.70

Which of the following measurements
will form a right angled triangle?

A_ 5cm, 9cm, 12cm
B. %m, 13em, 15cm
C. 8em, 12cm, 15cm
D. 2.5cm, dom, 6.5cm

What is the size of the angle marked t?
P

/b%m '

o
A 180°
B. 140°

C. e
D. 40°

Lenox bought the following items from a
shop:

41 kg of sugar @ sh 100
21kg of rice @ sh 80

3 loaves of bread for sh 165
I bar soap @ sh 150

If he paid for the item using a sh 1000
note, how much balance did he get?

A. sh 965
B. sh 135
C. sh35
D. sh 1965

25.

26.

27.

28.

29.

30.

Work out: {225_:3_1 +/196

i 3+2°
13—;
]
15
o2
D. £
Sharone had 8 tonnes of wheat which she

repacked in kg packets. How many
packets did she obtain?

. 320000
32000
320
ol

gowe

If 20% of a quantity is 1200, what is
60% of the same quantity?

A. 3600
B. 2400
C. 400
D. 144

A.road 400 km is represented on map by
8cm. What scale is used in the drawing?

A. 1:50

B. 1:50000
C. 1:500000
D. 1:5000000

Simplify the inequality below
Ox+3x<4x+17

Aciix =17

B. x<Zi

C: x:r?.%

D. 3x <17

Write 0.75 as a ratio in its simplest form.

A 34
B. 4:3
e
D. 3:40
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31.

32.

33.

34.

35.

What is the value of: 2. =20 =)

F—W
whent=3 w=2andr=42

Al 16
B.7
G
D.3

What is the volume of the figure below?

(Take m=42) 7
Hfﬁifff#*%¥

i’ '/

o

. 220 em’
. 385 cm’
440 om’
. 770 em’

Pows

Construet triangle ABC where AB =7
cm, BC = 8§ cm and angle. ABC = 65°,
What is the length of line AC?

A. Bcm
B. Tem
C. dem
D.35¢cm

Atrain 150 m long passes a signal post
m 10 seconds. What is its speed in
Km/hr?

A. 54 km/hr
B. 150 km/hr
C. 15 km'hr
D. 1500 km/hr

What is the perimeter of the figure
below? (Take m=

G

14 cm

22 cm
28 cm
36 cm
44 cm

gowp

36. A company was to hire § men to do a

37

33.

39.

40.

piece of work in 10days. If 3 men did not
turn vp, how many more days did the -
men who reported take to finish the
worlk?

A. 16 days
B. 10 days
C. &days
D. 6 days

Nevine deposited sh 10,000 in a bank
which paid simple interest at the rate of
101 9% pa. If she withdrew all the money
after 3 years; how much did she
withdraw?

A. sh 3150
B. sh 3000
C. sh 13150
D. sh 13000

Lydia 1s paid a salary of sh. 12000 plus
10% commission on sales above sh
20,000. In a certain month she sold
goods worth sh 50,000. How much did
she earn that month?

A, sh 18000

B. sh 15000

C. sh 8000

D. sh 30000

Hesbon paid sh 10200 for a radio after
getting a discount of 15%. What was the
marked price of the radio?

A, sh 1530
B. sh 8670
C. sh11730
D. sh 12000

4.83—-05x3.2
0.04

Work out:

A 80
B. 8
C. 0.8
D. 0.08

' © Stepford Press and Publishers, 2021



41. Inthe year 2020, 12" February was a
Tuesday. Which day was 12* April the
same year?

A Saturday
B. Thursday
C. Fnday
D. Sunday

42. A family uses an average of 16 decilitre
of milk daily. How many litres does the
family use in the months of May and
June?

A 976 litres
B. 87.2 litres
C. 72 litres

D. 49.6 litres

43. The following are properties of a certain
type of quadrilateral:

(1) All sides are equal

(i1) Some angles are equal
(11)Two pairs of parallel sides
(1v) Diagonals are not equal

Which one of the following
quadrilaterals is described above?

A. Square

B. Parallelogram
C. Rhornbus

D. Rectangle

44. The volume of the cuboid below is

6048 em’.

¥y

28 cm
What is the value of y7

A, 9cm
B. 12cm
C. l4em
D. 24 cm

18 cm

45. The pie chart below shows how Joy
spent her salary in a certain month.

If she saved sh 1000, how much was her
salary?

A sh 7200
B. sh 6000
C. sh 6200
D. sh 7000

46. Luke bought a TV set on hire purchase
terms. He paid a deposit of sh 9000 and
nine monthly mstalments of sh 3000,
The hire purchase was 20% more than
the marked price. What was the marked
price of the TV set?

A. sh 28800 A
B. sh 36000
C. sh 43200
D. sh 30000

47. What is the difference of the mean and
mode of the following numbers?
3,6,2,6,4,8,6

<

Caome
= Lh O R

48. What is the smallest number that can be
added to 97850 to make it divisible by
117

VoW
WO Ly BD
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49. Bethwel started reading at 2010 Hrs and stopped at 11.29 pm for how long did he read?

A. 2 hours 19 minutes
B. 3 hours 19 minntes
C. 2 hours
D. 3 hours

50. The graph below shows the amount of money collected by std 7 pupils for the Home Science

lesson in a week.

A
SO0 e EEE SRR N S En N
4004+ et
S g5 EEIEIzEsaE
£ 300+ s E
g’ SiLiiin P
< i e
2001+ 1= -
1001 '
"MON'  TUE'  WED' THUR  FRI

DAYS OF THE WEEK
What was the average collection per day during the week?

AL sh 240
B sh 300
C. sh 400
. sh 1200
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